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PARTI @ (& 50 %)

1. (20% ) Briefly describe the functionality of compiler and interpreter, what is the major
difference between them?

2. (10%) Assume that an application program takes four seconds to finish computation on
a 266MHz PC, and the measured average CPI is 1.33, what MIPS (millions of
instructions per second) rating does the PC have for this situation?

3. {10%) Translate the following text into Chinese.
Android has a large community of developers writing applications ("apps") that extend
the functionality of the devices. Developers write primarily in a customized version of
Java.[18} Apps can be downloaded from third-party sites or through online stores such
as Android Market, the app store run by Google.
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Segment # P p_
1 14 7 ns

2 12 9 ns

3 16 10 ns

4 11 3 ns

HP o Py ZEB TR R AL (RS clock overhead ) » Pry, & f 48588
85 P o {2 2% clock overhead & 3 ns » #4342 F clock skew » B] b 48 22 He 5% /) B
BRIEEA A4 7 AE SRR (latency ) BT 7

3. (5%)fT3#8 clock skew?

4. (1096)% Rk R e — 4 % 4 2 Mealy #o Moore ~ % » R 2 2 £ R A4 ?

[(£2H #%2H]



